Stepping motor AML B17.2-R - n°4 pieces

nate

date signature

modifications

58 041 |spring clamp 76 | 039 |vert.-hor. spring
57 | 041 |spring clamp supp.l | 70 | 041 |spacer

56 | 040 |counter rotation 69 | 0471 |vert. spring cl. supp
55 | 040 |rod 61 040 | support plate

54 |040

vert. movem. nut 60

040

joint

53 | 040

vert. movem. screw 59

041

spring clamp

ref. drav.

added agend ref.

araw.

added 1sgend

=&

LIGO PROJECT

designed for

R.De Salvo

araw.

G.

bGyemhqr’ofPROMEC

3-69 fommy head M10x70 8
57-69 fommy head M5x20 8

60 grub M4x5 4

53 nut M6 4
54-56 tommy head M3x12 8
59-54 Tommy head M5x12 8
motor—61 nut M3 16
61-2 tommy head M10x30 8
detail type n°piec.

Screw’'s table

title

HAM=OPTICAL BENCH

MOTORIZED VERTICAL SPRING

date

11-12-04

L1G0-D050109-00-D

scale

11 A2

&




